NOE . INTERIOR SKIN
Sl et fe————— 1-3/4
020 00 .013 THICK G-40 GALVANIZED STEEL WITH AN
A EPOXY PRIMER AND BAKED ON POLYESTER FINISH
PRI ?3|-)”|E?EE-I—QI‘VIIDEI;I—2|:SCREW WHICH IS ROLL-FORMED WITH .04" DEEP
0o o 0
el (8) REQD PEF HORIZONTAL GROOVES WITH A STUCCO TEXTURE. PERIMETER SEAL, OPTIONAL
b ﬂ; TOoP EXTERIOR SKIN
FIXTURE .018 THICK G-40 GALVANIZED STEEL WITH AN EPOXY o 0000 o9 1,
PRIMER AND BAKED ON POLYESTER FINISH WHICH 0 09,.8°%59 9 87 00
IS ROLL-FORMED WITH .04" DEEP HORIZONTAL e —©°° %o
GROOVES WITH A STUCCO TEXTURE.
END STILE
JAMBS
\ TOP FIXTURE DETAIL SEE SHT 2 FOR JAMB
TOP FOR DOORS OVER 500 LBS OR ) ATTACHMENT
SECTION OVER 5 SECTIONS HIGH I |
INSULATION CORE HEX HEAD LAG SCREW
- SHEET METALSCREW POLYURETHANE FOAM (2) PER BRACKET, SEE DETAIL
0 N 2O PER \ ON SHT 3
(T%P F&TURE TRACK BRACKET SHOWN
FULL ANGLE OPTIONAL
o INTERMEDIATE TOP = SEE DETAIL ON SHT 3
SECTION FIXTURE ) \ CENTER HINGE RETAINING NUT TRACK BOLT / WHIZ LOCK NUT
, ° \ SEE DETAIL ON SHT 3 CI16" PUSH ON EDGE HINGE SEE DETAIL ON SHT 3
W) © STEEL U-BAR RETAINING NUT (1) SEE DETAIL ON SHT 3 TRACK ROLLER
| — SEE DETAIL ON SHT 3 SESBIERFBLP(EE ES-IFIE%ER SEE DETAIL ON SHT 3
TRACK, 2" SHOWN, 3" OPTIONAL
END STILE SECTION B-B SEE DETAIL ON SHT 3
o) o \
TOP FIXTURE DETAIL . END STILE
FOR DOORS UP TO 500 LBS SPRING COUNTERBALANCE (5) REQ'D PER HINGE
SPRING SIZE AND QUANTITY SHEET METAL SCREW
WILL VARY BASED ON DOOR
SIZE.
U-BAR
SHEET METAL SCREW —
~— BOTTOM (5) REQ'D PER HINGE % A T E:
SECTION . —— i
O
CENTER —_ R  bosZaiii!))}) EE-E.iniit’néii:Bii. , 40 1
HINGE | J< 5
RETAINER. TOP FIXTURE + + HINGE
SEE DETAIL ON SHT 3 BY B
4 A U # o :é 777777 f EDGE HINGE DETAIL
| GLAZING (OPTIONAL) e B
SECTION AA DOOR HEIGHT  SEE DETAILS ON SHT 2 7
8- 0" HIGH STEEL REINFORCEMENT — | \ ) ( ) ( )
SHOWN (1) U-BARPERSECTON | || [ —/ 7~ @ —MmM———— e
CENTER HINGE OTHER DOOR : - #
DETAIL HEIGHTS e e 5
\\\\n | ”’/// AVAILABLE UP i =
TO 240" USING | & gl
N 1, 200 P
\\\ .“( A. BR /// 21" OR 24" HIGH | (o peOUIRED
N\ e E N % SHEET METAL SCREW SECTIONS 5\ DOORS NOT ELECTRICALLY]
L4 \J '
N a}" < NCENSS 37 (4) REQD PER OPERATED. SEE DETAILS ON
: * N // SHT 2. T T
' —
S % ! No 0065940 . x= END STILE
s ! s - CORNER CORNER BRACKET
- * : - BRACKET SEE DETAILONSHT3 -+ - DOORS TESTED PER
= O = d - ANSI/DASMA 108
— R STATEOF Wy 1 el | FOR STATIC AIR PRESSURE
e 9(\“ S é‘/ < VENTS (OPTIONAL) y
7z, SO R ™, N VENT OPENINGS MAY BE MAXIMUM DOOR WIDTH 10'- 2" MAXIMUM
7 & N LOR\O AN NN DESIGN LOAD
Z s SLURIV - ‘\Co \\\ LOCATED IN BOTTOM SECTION 10'-2" SHOWN DOOR WIDTH
7 ///S/O NAL © \\\\ AS REQUIRED BY CODE INTERIOR ELEVATION 10-2" | +300 [ -340
//II l “ ‘ \\\\ SCALE: NONE TITLE:
Digitally signed by prAvEY 6 WEDEKIND /.—\Y THERMASEAL STANDARD
Scott A. Brown P.E. Scott A_ Brown, B ﬁx\rxlnvﬁ\ﬁ%ﬁ?/l[éﬁTBsAUMANN' P.E., 2) UPDATED 7802.01 | 09/25/17 | cHECKEDBY: G. WEDEKIND RAYNOR
F.P.E #65940 P E CORNER BRACKET
698 Timber Creek Road Date: 2017-10-13 DETAIL A RELEASE FOR PRODUCTION 6338.02 08/02/12 DATE:  08/02/12 1101 EAST RIVER ROAD NO P 24 14 SHEET REV
Dixon lllinois 61021 10:09:26 REV. DESCRIPTION ECO paTE | Eco: 6338.02 oo e ' 1or4 | B




TORSION SPRING
ASSEMBLY

|
NORMAL HEADROOM TRACK

2" TRACK ANGLE MOUNT SHOWN

2" TRACK BRACKET MOUNT AVAILABLE
3" TRACK ANGLE MOUNT AVAILABLE

TORSION SPRING
ASSEMBLY

|0

FRONT MOUNT LOW HEADROOM TRACK
2" TRACK ANGLE MOUNT SHOWN

2" TRACK BRACKET MOUNT AVAILABLE
3" TRACK ANGLE MOUNT AVAILABLE

/ TORSION SPRING
ASSEMBLY

REAR MOUNT LOW HEADROOM TRACK
2" TRACK ANGLE MOUNT SHOWN

2" TRACK BRACKET MOUNT AVAILABLE
3" TRACK ANGLE MOUNT AVAILABLE

Digitally signed by
Scott A_ Brown, P_E_
Date: 2017-10-13 10:

Scott A. Brown P.E.
F.P.E #65940

698 Timber Creek Road 10:30

LIFT CLEARANCE TRACK
2" TRACK ANGLE MOUNT SHOWN
2" TRACK BRACKET MOUNT AVAILABLE

TORSION SPRING
ASSEMBLY T

VERTICAL LIFT TRACK
2" TRACK ANGLE MOUNT SHOWN
2" TRACK BRACKET MOUNT AVAILABLE

>

9

1 CENTER STILE
8-2" WIDE

)

¢

1 CENTER STILE
9'-2" WIDE

é 9

2 CENTER STILES
10'-2" WIDE

HINGE ROW LAYOUT
INTERIOR VIEW

3" TRACK ANGLE MOUNT AVAILABLE 3" TRACK ANGLE MOUNT AVAILABLE 24" x 8" WINDOW
[ / GLASS OPTIONS:
f L f 1/8" DSB
GLASS 1/8" ACRYLIC
NORMAL HEADROOM /—( )—/ PANEL 1/2" INSULATED GLASS
HORIZONTAL TRACK SHOWN [ /
LOW HEADROOM, LIFT [ |
CLEARANCE AND VERTICAL
LIFT TRACK AVAILABLE. M | |
HOH o0
e I i f
/ FLUSH
12" OR 15" ] / /
RADIUS | / ll ll PANEL
= [ I
| = ‘ PANEL OPTIONS
\JAMB ANGLE n EXTERIOR VIEW
.078" GALVANIZED STEEL M
(1) REQ'D PER VERTICAL TRACK CONTINUOUS ANGLE
= ATTACH WITH (3) 5/16" X 1-3/4" ’
LAG SCREWS
VERTICAL DOOR HEIGHT ‘ ‘
DOOR HEIGHT TRACK I
TRACK ASSEMBLY BOLT 13 GA (.086 MIN) GALVANIZED STEEL FOR 2" TRACK
5/16" X 3/4" TRACK BOLT WITH -1-1 11 GA (.116 MIN) GALVANIZED STEEL FOR 3" TRACK
5/16" WHIZ NUT
36" O.C. (TYP) EEQEEETS ANGLE TO STRUCTURE E 36" O.C. (TYP)
SEE SHEET 4 FOR SPACING TRACKTO ANGLE
12 I 12
1 Ly 1
8" — SCALE: NONE TITLE:
TYPICAL TRACK INSTALLATION TYPICAL TRACK INSTALLATION DRAWN BY: G. WEDEKIND N SPEC, WINDLOAD
RAYNOR THERMASEAL STANDARD

BRACKET MOUNT
WOOD JAMBS

ANGLE MOUNT
WOOD, STEEL OR MASONRY
JAMBS

CHECKED BY: G. WEDEKIND

1101 EAST RIVER ROAD
DIXON, IL. 61021

DATE: 08/02/12

ECO: 6338.02

Nno. P-2414 e

2 oF 4

REV

Dixon lllinois 61021



f

o

[
L 2-5/8"

STEEL U-BAR DETAIL
18 GA. (.049" MIN) GALVANIZED

2.00 %———Jj

JAMB AND HEADER SEAL

FOAMED PVC WITH FLEXIBLE PVC FLAP

HIGH TENSILE STEEL 80 KSI MINIMUM YIELD

SHEET
METALSCREW
(4) REQD

O
=

|:|
1 [
|

- —

END STILE | |
INTERIOR LOCK DETAIL

| —

*
STATE OF

C e ®

// SIONA\- 12
it

Scott A. Brown P.E.
F.P.E #65940
698 Timber Creek Road
Dixon lllinois 61021

[=—2.61 —==—2.55

[0 O]

?

4.06 2.38

[

0 0]

/ TRACK

STRIKE PLATE
15/8" x4 1/2" x .086

LOCK BAR
3/4" X 1/4"

TRACK BOLT/WHIZ NUT
5/16-18 X 3/4"
(2) PER STRIKE PLATE

5/8" MINIMUM

‘st OR\D—P:o" & \\

W\

Digitally signed by
Scott A_ Brown,
P_E_

Date: 2017-10-13
10:11:37

SLIDE LOCK
CASE .086 GALV. STEEL

3.19
1.50

O
q 9
2.81 _— D
O q 4
3" TRACK BRACKET
.116 GALV STEEL
4.19
1.50
CENTER HINGE
9) ] .045 GALV. STEEL
J
()
3.00 D
.75 x.25 THICK o L

4" TRACK BRACKET
.116 GALV. STEEL

n
)

|
L

TOP FIXTURE
.086 GALV. STEEL

r‘ 2.24 T

END STILE
.055 GALV. STEEL

.271

.086 GALV. STEEL

F—2.75 —=

O D) O

-
Ol
o

EDGE HINGE
.086 GALV.STEEL

2.28

!
<——‘71.93
T :@¥ R .22

TOP ROLLER CARRIER
.086 GALV. STEEL
ATTACHED TO TOP FIXTURE WITH
(2) TRACK BOLTS AND WHIZ NUTS

0
0

@ .42

° 8.00

°° 52

> | SECTION _ ? @
. HEIGHT o o I

° Ol '= @ 52
| DG, @l
o o P3.414

° CORNER BRACKET

TRACK ROLLER

TRACK
.055 GALV. STEEL

@ .88

RETAINING NUT

’—

SHEET METAL SCREW

BOTH STYLES ARE INTERCHANGABLE

=i

s <

@ 59@

18.50
> 5
S b
s —> S
S 5
JAMB ANGLE

.078 GALV. STEEL

TRACK BOLT

_ ’<* 7/8" :‘

- N 2 uar

172"

1/4"

O b

13/4" ———

AN e

HEX HEAD LAG SCREW

@ 5/16"

SCALE: NONE

DRAWN BY: G. WEDEKIND

CHECKED BY: G. WEDEKIND

DATE: 08/02/12

ECO: 6338.02

e
RAYNOR

1101 EAST RIVER ROAD
DIXON, IL. 61021

TITLE:

SPEC, WINDLOAD
THERMASEAL STANDARD

SHEET

Nno. P-2414

3 oF 4

REV




698 Timber Creek Road

STEEL JAMB

STRUCTURAL STEEL BY OTHERS.
3/16" MIN THICKNESS.

5/16" X 5/8" THREAD CUTTING SCREW —
WITH 5/16" WASHER

ALLOWABLE TENSION LOAD = 1048 LBS
STARTING 8" FROM THE FLOOR, THEN 36" O.C.
OR

5/16-12 X 1" SELF DRILLING SCREW
WITH 5/16" WASHER

ALLOWABLE TENSION LOAD = 971 LBS

STARTING 8" FROM THE FLOOR, THEN 36" o.c./
ANGLE MOUNT

ANGLE TURNED IN WITH
SECTION LAPPING THE
JAMB BY 1" MIN.

TRACK ASSEMBLY ATTACHMENT TO STEEL JAMB
2" TRACK ANGLE MOUNT TURNED IN. SHOWN

VERTICAL TRACK

3" TRACK ANGLE MOUNT AVAILABLE

WOOD OR MASONRY JAMB\

WOOD BACK JAMB ———
SEE JAMB ATTACHMENT DETAIL
FOR ANCHORAGE REQUIREMENTS

3/8" X 1-3/4" HEX HEAD LAG SCREW -]
WITH 3/8" WASHER IN SOUTHERN PINE
ALLOWABLE TENSION LOAD = 655 LBS, (NOTE 6)
STARTING 8" FROM THE FLOOR, THEN 36" O.C.
MAXIMUM SPACING.

OR

3/8" X 1-3/4" HEX HEAD LAG SCREW
WITH 3/8" WASHER IN SPRUCE, PINE,FIR
ALLOWABLE TENSION LOAD = 482 LBS (NOTE 6)
STARTING 8" FROM THE FLOOR, THEN 36" O.C.

MAXIMUM SPACING /
ANGLE MOUNT

ANGLE TURNED IN WITH
SECTION LAPPING THE
JAMB BY 1" MIN.

TRACK ASSEMBLY ATTACHMENT TO WOOD BACK JAMB

gy
k]

VERTICAL TRACK

2" TRACK ANGLE MOUNT TURNED IN SHOWN
3" TRACK ANGLE MOUNT AVAILABLE

U
AW 1ty
Nt A Bry7,,

N) +2\CENSL. //
Se - UCENSE 37
¢ .

S Y Nooosssa0 v =
= %! ° '\ % E—_
= * o=
=" SsTmEOF S
AN T
7, Qo LoRPE TS
Iy
Scott A. Brown P.E. Digitally signed by Scott
F.P.E #65940 A_ Brown, P_E_

Dixon lllinois 61021 13:02

Date: 2017-10-13 10:

MASONRY JAMB \ . .
(( ((
MINIMUM EDGE DISTANCE ‘ o > } > >
1" 6
2172 © P o / 2500 PS| CONCRETE (MIN) ] \ ]
Q
° — TREATED 2X6 WHEN
2-1/2" EMBEDMENT ° o MOUNTING TO MASONRY
o \ CONSTRUCTION.
= . . UN-TREATED 2X6 MAY BE
USED ON WOOD
CONSTRUCTION.
3/8" ITW TRUBOLT
ALLOWABLE TENSION LOAD =893 LBS T
STARTING 8" FROM THE FLOOR, THEN 36" O.C. DOOR HEIGHT
OR ° =
3 TREATED 2X6 #2
3/8” KWIKBOLT3 . DOUGLAS FIR OR
ALLOWABLE TENSION LOAD = 1379 BETTER WOOD BUCK
STARTING 8" FROM THE FLOOR, THEN 36 O.C.// WHEN MOUNTING TO
| o MASONRY JAMBS.
“7 N
UN-TREATED 2X4 #2
ANGLE MOUNT \ MAXIMUM \ DOUGLAS FIR OR
ANGLE TURNED OUT WITH VERTICAL TRACK SPACING JAMB FASTENERS BETTER MAY BE USED
SECTION LAPPING THE
JAMB BY 1" MIN. ! i FOR JAMB LOADS ON WOOD JAMBS. SEE
° ° CHART FOR BACK JAMB
TRACK ASSEMBLY ATTACHMENT TO MASONRY JAMB ATTACHMENT TO
’ STRUCTURE
2" TRACK ANGLE MOUNT TURNED OUT SHOWN
3" TRACK ANGLE MOUNT AVAILABLE & DOOR
WIDTH
JAMB ATTACHMENT

WOOD OR MASONRY JAMB\

WOOD BACK JAMB
SEE JAMB ATTACHMENT DETAIL \
FOR ANCHORAGE REQUIREMENTS

3/8" X 1-3/4" HEX HEAD LAG SCREW j

WITH 3/8" WASHER IN SOUTHERN PINE
ALLOWABLE TENSION LOAD = 655 LBS (NOTE 6) bl
STARTING 8" FROM THE FLOOR, THEN 36" O.C.
MAXIMUM SPACING.

OR \
3/8" X 1-3/4" HEX HEAD LAG SCREW

WITH 3/8" WASHER IN SPRUCE, PINE,FIR
ALLOWABLE TENSION LOAD = 482 LBS (NOTE 6)

STARTING 8" FROM THE FLOOR, THEN 36" O.C.
MAXIMUM SPACING
ANGLE MOUNT

ANGLE TURNED OUT WITH
SECTION LAPPING THE VERTICAL TRACK

JAMB BY 1"

TRACK ASSEMBLY ATTACHMENT TO WOOD BACK JAMB

2" TRACK ANGLE MOUNT TURNED OUT SHOWN
3" TRACK ANGLE MOUNT AVAILABLE

JAMB ATTACHMENT NOTES

1. MAXIMUM POSITIVE LOAD PER JAMB = (10'-2" X 30.0 PSF) /2 = 153 LBS PER FOOT

2. MAXIMUM NEGATIVE LOAD PER JAMB = (10'-2" X -34.0 PSF) / 2 = 173 LBS PER FOOT.

3. DESIGN OF THE SUPPORTING STRUCTURE SHALL BE THE SOLE RESPONSIBLITY OF
THE BUILDING DESIGNER AND SHALL BE DESIGNED FOR THE JAMB LOADS LISTED IN
NOTES 1 AND 2.

4. ALTERNATE JAMB ATTACHMENTS MAY BE USED IF APPROVED BY A REGISTERED PROFESSIONAL
ENGINEER.

5. DASMA TECHNICAL DATA SHEET TDS-161 MAY BE USED FOR ALTERNATE JAMB ATTACHMENTS.

6. 3/8" DIAMETER LAG SCREWS REQUIRED 1/16" PILOT HOLE AND 1-1/2" MINIMUM EDGE DISTANCE.

2X6 ATTACHMENT TO STRUCTURE
MINIMUM MINIMUM ON DIMENSION A | ALLOWABLE
STRTUYCF;I—EURE FASTENER TYPE EN’\IAELEI[’;AI\;IJIQANT EDGE CENTER (MAXIMUM ON TENSION
DISTANCE SPACING CENTER SPACING) LOAD
1/4" TAPCON+ (PLUS) " " "
2500 PSI MIN. CONCRETE WITH 1-1/8' OD WASHER 2 25 6 24 691
3/8" X 3" LAG " " " "
SOUTHERN PINE WITH 1-1/8" OD WASHER 1.50 1.50 1.50 24 655
3/8" X 3" LAG . " " "
SPRUCE PINE FIR WITH 1-1/8" OD WASHER 1.50 1.50 1.50 24 482
SCALE: NONE TITLE:
DRAWN BY: G. WEDEKIND N SPEC, WINDLOAD
Y THERMASEAL STANDARD
CHECKED BY: G. WEDEKIND nA Non«
DATE: 08/02/12 1101 EAST RIVER ROAD SHEET REV
DIXON, IL. 61021 NO. P'24 14
ECO: 6338.02 sora | B




		2017-10-13T10:09:26-0600
	Scott A_ Brown, P_E_


		2017-10-13T10:09:59-0600
	Scott A Brown, PE


		2017-10-13T10:10:30-0600
	Scott A_ Brown, P_E_


		2017-10-13T10:10:59-0600
	Scott A Brown, PE


		2017-10-13T10:11:37-0600
	Scott A_ Brown, P_E_


		2017-10-13T10:12:17-0600
	Scott A Brown, PE


		2017-10-13T10:13:02-0600
	Scott A_ Brown, P_E_


		2017-10-13T10:13:55-0600
	Scott A Brown, PE




